Soustraction Avec Des Zeros (C)

1000
- 622

1000
-95

1000
- 455

1000
- 424

1000
- 832

1000
-81

1000
- 255

Calculez la différence.

1000 1000
- 311 - 968
1000 1000
- 856 -476
1000 1000
- 838 -6
1000 1000
-718 - 285
1000 1000
- 267 - 238
1000 1000
- 147 - 241
1000 1000
- 622 - 996

1000
-927

1000
- 863

1000
-870

1000
- 424

1000
-33

1000
- 486

1000
- 206
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Soustraction Avec Des Zéros (C) Réponses

1000
- 622

- 311

378

1000
-95

- 856

905

1000
- 455

- 838

545

1000
- 424

-718

576

1000
- 832

- 267

168

1000
-81

- 147

919

1000
- 255

- 622

745

Calculez la différence.

1000
-927

73

1000
- 863

137

1000
-870

130

1000
- 424

576

1000
-33

967

1000
- 486

1000 1000
- 968

689 32
1000 1000
-476

144 524
1000 1000
-6

162 994
1000 1000
- 285

282 715
1000 1000
- 238

733 762
1000 1000
- 241

853 759
1000 1000
- 996

378 4

514

1000
- 206

794
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